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- 2022/6/6.|..2022/7/4 2022/8/1 2022/12/19 2023/2/6
- - ) 10:40 :00 10:50 10:0 9:15 B 9:07
- - IE fain L] 55l ﬂ% = B, i
- - . 2.2 18.0 24.4 31.4 49 7.3 3.7
- 16.9 19.7 19.3 282 29.0 35 89 40
i cfu/mL, 100 0 0 0 0 0 0 0 0
Y I S AL - bt e SiEH e e SN AR T S
3 mg/L 0.003 0.0003 <0.0003 - - <0.0003 <0.0003 - <0.0003 - -
4 mg/L 0.0005 0.00005 <0.00005 - - - - - - -
5 tb/&(ﬂ%d)ﬂ:“% me/L 0 0.00 <0.00 - - <0.00 <0.00 - <0.00 - -
6 i’ﬁ&(ﬂ%d)ﬂ:bff% me/L 0.00 <0.00 - - <0.00 <0.00 - <0.00 - -
=S me/L 0.00 <0.00 - - <0.00 <0.00 - <0.00 - -
| 8 mg/L 0.002 <0.002 - <0.002 <0.002 - - - <0.002 -
me/L 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
me/L 0.001 <0.001 - - <0.001 - - - <0.001 - -
me/L 0.2 0.64 0.67 0.47 0.43 0.41 0. 60 0.64 0.82 0.83 0.86. 0.65
me/L 0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0 08 <0.08 <0.08 <0.08 <0.08 <0.08
me/L 0.1 <0.1 - - <0.1 <0.1 - - <0.1 - -
me/L 0.0002 <0.0002 - - <0.0002 - - - <0.0002 - -
. ¥ #"1‘/‘; - me/L 0.005 <0.005 - - <0.005 - - - <0.005 - -
VA=1,2=UJ00TF LY
BIRSYZ—1 2—Sh0n mg/L 0.004 <0.004 <0.004 <0.004
Pi=|=p ) me/L 0.00. <0.00 - = <0.00 - = bt o <0.00 bt bt
ThZ700IFL me/L 0.00 <0.00 - = <0.00 - = bt o <0.00 bt bt
F'J’JDDI?—l// mg/L 0.00 <0.00 - = <0.00 - = bt o <0.00 bt bt
me/L 0.00 <0.00 - = <0.00 - - bt b <0.00 bt b
me/L 0.06 <0.06 <0.06 <0.06 0.12 0.11 0.15 <0.06 <0.06 <0.06 <0.06 <0.06
me/L 0.002 0.00 - = 0.002 - = bt o 0.002 bt bt
me/L 0.001 0.00. - = 0.0 - = bt o 0.007 bt bt
me/L 0.003 0.00: - = 0.00 - = bt o 0.004 bt bt
me/L 0.00 0.003 - = 0.00 - = bt o 0.004 bt bt
me/L 0.00 0.001 - = 0.001 - = - - 0.001 - -
mg/L 0.00 0.017 b = 0.046 - = - = 0.019 - -
me/L 0.00. 0.004 b = 0.009 - = - = 0.004 - -
JOESHOOIRY me/L 0.00 0.006 b = 0.014 - = - = 0.00. - -
Z20ERILL me/L 0.00 0.001 b = 0.001 - = - = 0.001 - -
ABILLTILTER me/L 0.008 <0.008 b = <0.008 - = - = <0.008 - -
dsn mg/L 0.0 <0.01 b = 0.01 <0.01 = - = <0.01 - -
me/L 0.0 0.03 b = .04 03 = - = 0.02 - -
me/L 0.03 <0.03 b o <0.03 <0.03 = - = <0.03 - -
me/L 0.01 <0.01 b = <0.01 <0.01 = - = <0.01 - -
mg/L 0.5 13.1 b = 1. 0.9 = K - = 11.8 - -
mg/L 0.001 <0.001 - - <0.001 <0.001 = <0.001 - - <0.001 - -
me/L. ) 12 i1 i0 14 12 i1 i i2 i3 14 i2
mg/L 3 52.3 b = 59.3 52.4 = 41.4 - = 59.9 - -
me/L. 1 110 - - 114 106 - 63 - - 110 - -
me/L 0.02 <0.02 - = - - - = - - = - -
ng/L 1 i 2 1 2 i 2 < 2 < < i i
ng// <] < <] i < <d <] i i 2 2
me/L 0.005 <0.005 b = <0.005 - = <0.005 - - <0.005 - -
me/L 0.0005 <0.0005 b = - - = = - - = - -
me/L 0.3 0.7 0.6 0.8 0.9 0.8 0.8 0.5 0.5 0.6 0.6 0.8 0.7
0.1 1.26 1.03 ___7.1 2 110 1.20 .16 7.14 1.35 1.25 ___7.26 121 1.26
E2il Eral 2Rl =enl E2nl Eenl Hehl Ed g Eenl Eeal =enl E2hl
- EwBil L4 EEh0 E8il ERiL 2wl EL AW HEEnl 2RIl EEHL Ewnl EEAL
=4 0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
=4 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
mg/L 0,01 030 048 028 0.36 052 054 0,62 032 062 053 0,66 0.36




FiEEKIBIEKE

= =3
I . T8 BREXMGHES
EE4 HE(E TRiE 1B 55 68 78 87 9A 105 1A 127 15 27 3A
= - SR SR AL SR AL SR SR AL ] SR SR AL
= 2022/4/18" ] 5022/5/16. | 2029/6/6.. | 2022/7/4 2022/8/1 2022/9/5 2022/10/4 2022/11/14]2022/12/19.[2023/1/10°| " 5023/2/8 2023/3/6
= = 1015 9-45 10:15 9:40 9:0 85 9:00 955 9:5 FoRCTO R I
= = i B U] 53l uin a_%n ﬂ*n i = &AL Eh ui)n,
= = 70.6 18.2 21.4 24.6 31,7 31,1 25.1 154 ) 6.8 7.0 11.3
= 215 21.2 248 29.9 32.1 31.4 26 g 17.0 8.7 7.0 7.3 10.8
T ofu/mL 700 0 0 1 0 0 37 0 0 0 0 0
Y bR SALZEL o - AEH DiEH R AR LiEH PiEH ﬂﬁ.‘iﬂ TiEH DiEH AR AiEH AR
3 me/L 0.003 0.0003 £0.0003 - - £0,0003 <0,0003 - <0.0003 - - £0.0003 - -
4 me/L 0,0005 0.00005 <0,00005 = < - - = - = = = =z
5 tb/&U%OtAM me/L 0 0.00 <0.00 = = 0,00 £0.00 - 26166 - - <6.00 - -
O IHEOZDIEEY me/L 0.00 <0.00 = = 0,00 <0.00 - <0.00 - - <0.00 - -
7 le= me/L 0.00 <0.00 = = 0,00 <0.00 - <0.00 - - <0.00 - -
8 me/L 0.007 <0.007 = 0,007 <0.007 <0007 - = <0007 =
me/L 0,004 <0.004 {0,004 <0004 0,004 0,004 <0.004 £0.004 <0.004 0,004 <0.004 0,004 06,604
me/L 0.001 £0.001 - 0,001 - <0,001 - <0.001 - -
me/L 0.2 0.89 0.81 16 1.07 119 165 0,93 16 106 0,98 0,58 0.88
me/L 0.08 <008 £0.08 <0.08 0,08 £0.08 <0.08 0,08 <0.08 £0.08 £0,08 0,08 £0.08
me/L 0.1 <0.1 - <0.1 0.1 <0,1 = <0.1 - -
me/L 04,0002 <0,0002 - = £0,0002 = - £0.0002 - - 0,000 = =
A= ﬂF*ﬁ'/‘; - me/L 0,005 <0.005 - = <0,005 - <0.005 - - 0,005 = =
VA=1,2=UJ00TF LY
AN Ayt me/L 0.004 <0.004 <0.004 <0.004 <0.004
SHOOARY me/L 0.00 £0.00 = = <0.00 = = = = <0.00 = =
FRSHOOIFLY me/L 0.00 <0.00 = = <0.00 = = = = 0,00 = =
FIZRETFLY me/L 0.00 <0.00 = = <0.00 = = - = 0,00 = =
me/L 0,00 <0.00 = = 0,00 = = = = 0,00 = =
me/L 0.06 <006 <0.06 £0.06 0,06 £0.06 0,06 <0.06 £06.06 <0,06 <0.06 £06.06
me/L 0.002 £0,002 - - 0,002 - = ) = = i = =
me/L 0.00] 0,002 = = 0,00 = = 0 = = I = =
me/L 0.003 <0003 = = 0,003 = < 3 = = i = =
me/L 0.00 0,001 = = 0,003 = = 02 - = I = =
me/L 0.00 0,001 = = 0,001 = = i - = i = =
me/L 0.00 0,006 = = 0,012 = = 6 = = I = =
me/L 0.00 <0003 = = 0,003 = = 003 = = i = =
JOESHOOES me/L 0.00 0,002 = = 0,004 = = 06, = = I = =
JOERILL me/L 0.00 <0.001 = = 0,001 = = 001 = = i = =
BLTILTER me/L 0,008 <0008 = = 0,008 = = 008 = < 0 = =
HE me/L 0.0 <0.01 = = 0,01 <0.01 = 01 = = 0 = =
me/L 0.0 £0.01 = = 0,01 0,01 = = = - =
me/L 0.03 <003 = = 0,03 £0.03 = 03 = = i = =
me/L 0.01 0,01 = = 0.01 0,01 = 01 = = i = =
me/L 0.5 5.5 = = 0 6,1 = = = 0 = =
me/L 0.001 £0.001 = = 0,001 £0.001 = 0i = = i = =
me/L ) 5 5 5 6 6 5 5 5 6 6 6
me/L 3 444 - = 529 525 = 451 - - 3 - -
me/L i 77 = = 97 92 = 62 = = = =
me/L 0.02 £0.02 = = = = = = = = = = =
ng/L i <1 <i <i < <i <i <i <i <i < <i <i
ng// <1 <1 <1 < <1 <1 <1 <1 <1 <1 <1 <1
me/L 0,005 £0,005 - = <0.005 - = <0.005 - = 06,005 - -
me/L 0.0005 <0,0005 = = = = = - = = - = =
me/L 0.3 {0.3 0.3 0.3 0.3 0.3 0.4 0.3 {03 203 <03 {03 0.3
0.1 751 795 750 7.30 "} 45 kY] 748 763 749 i 743 59
Ewal ) 2Rl N ERll Eeil EH2hU HEELl Eell Eeal Eeil Eell
- EwBil L4 ERil HEal 2Eal ZELL HEhl HELL HeEil E=rlL EELL Z22hl
& 05 <0.5 <05 <0.5 <0.5 <05 <0.5 <0.5 <05 <0.5 <0.5 <0.5 <05
[ 0.1 <01 <01 <01 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
me/i 0.01 0.56 0.70 0.50 057 062 0.50 052 0.54 077 0.80 072 074




I KRG KEE

= =3
p - TE BEZRED
EE4 HE(E TRiE 1B 55 65 7H 87 9A 105 1A 127 15 27 35
= - T B T T T i T B i T izt T
o o 2022/4/18.1.2022/5/16 2022/6/6 2022/1/4 2022/8/1 2022/9/5 2022/10/4 2022/11/14.1.2022/12/19...2023/1/10 2023/2/6 2023/3/6
= o 9:40 9:00 9:45 9:00 9:3 9:30 10:05 9:30 10:35 9:55 10:30 10:00....
- - i hEn - 1] 53l Fh» L B i z iER i g
= o 18.4 18.0 19.2 25.5 29.3 28.8 250 14.4 1.6 6.3 1. 12.1
- 17.0 17.6 20.0 24.9 29.1 27.2 22 9 14.4 4.1 9. 8. 9.2
1 cfu/mL 100 0 1 0 0 0 0 0 0 0 0
Y I S AL - bt Py ] SiEH TR by ] by ] T?ﬁﬁj ] SN T%ﬁﬂi e S
3 mg/L 0.003 0.0003 <0.0003 b o <0.0003 <0.0003 o <0. 0003 - o <0. 0003 - -
4 mg/L 0.0005 0.00005 <0.00005 b o = - o - o - -
5 tb/&(ﬂ%o)ﬂ:‘“% mg/L 0 0.00 <0.00 b o <0.00 <0.00 o - o - -
6 i’n‘&U%o)ﬂ:‘“% mg/L 0.00 <0.00 b o <0.00 <0.00 - - - - -
TlEx mg/L 0.00 <0.00 b o <0.00 <0.00 o - = = b
| 8 mg/L 0.002 <0.007 b <0.002 <0.007 b - b -
mg/L 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
mg/L 0.001 <0.001 b = <0.001 - - b -
mg/L 0.2 2.31 2.28 2.45 2.05 2.54 2. 29 2.85 2.18 2.11 2. 63
mg/L 0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0 08 <0.08 <0.08 <0.08 <0 08
mg/L 0.1 <0.1 - - <0.1 <0.1 o
mg/L 0.0002 <0.0002 - = <0.0002 b - - - -
. ¥ #ﬂg - mg/L 0.005 <0.005 - = <0.005 - - - - -
TA=12=U00IFLY
BIRSYZ—1 2—Sh0n mg/L 0.004 <0.004 <0.004
70253y mg/L 0.00. <0.00 b - <0.00 - = b = . b b
ThZ700IFL mg/L 0.00 <0.00 b = <0.00 - = b = . b -
F'JODDI‘H// mg/L 0.00 <0.00 b = <0.00 - = b = . b -
mg/L 0.00 <0.00 b = <0.00 = = b = . = b
mg/L 0.06 0.25 0.22 0.19 0.18 0.23 0.32 0.48 0.15 . 0.15 0.17
mg/L 0.002 <0.002 b = <0.002 - = b = . b -
mg/L 0.001 0.004 - = 0.00 - = b = b -
mg/L 0.003 0.003 - = <0.003 - = b = 0 b -
mg/L 0.00 0.003 b = 0.00 - = b = b -
mg/L 0.00 0.001 - = <0.001 - = - - - -
me/L 0.00 0,010 - = 0017 = = - = I - =
mg/L 0.00. 0.003 b o <0.003 - = b o 0 b b
JOESHOOIRY mg/L 0.00 0.003 b o 0.006 - = b o b b
Z2OERILL mg/L 0.00 <0.001 b = 0.001 - = - = - -
ABILLTILTER mg/L 0.008 <0.008 b = <0.008 - = - b 008 b b
ik mg/L 0.0 <0.01 b = 0.0 <0.01 = - = .0 - -
mg/L 0.0 <0.01 b = <0.0 o - b - b
mg/L 0.03 <0.03 b = 3 <0.0 = - = ) - -
mg/L 0.01 <0.01 b = 0. <0.0 = - = ) - -
mg/L 0.5 6.5 b = 7.1 1. - = = = =
mg/L 0.001 <0.001 - = <0.001 <0.001 - - - . - -
mg/L 2 9 8 9 9 9 9 9 10 10
mg/L 3 711.9 b = 713.0 15.3 = - = 18.0 - -
mg/L 1 122 - o 133 129 o bt o 132 bt bt
mg/L 0.02 <0.02 - = - - = - - = - -
ng/L 1 <1 <1 <1 < <1 <1 <1 <1 <1 <1 <1 <1
ng// <1 <1 <1 < <1 <1 <1 <1 <1 <1 <1 <1
mg/L 0.005 <0.005 b = <0.005 - = <0.005 - - <0.005 - -
mg/L 0.0005 <0.0005 b = - - - = - - = - -
mg/L 0.3 0.4 0.4 0.5 0.5 0.5 0.4 0.4 <0.3 0.3 <0.3 0.4 0.5
0.1 1.49 1.20 142 1217 143 1.36 1.41 1.51 146 ___7.42 141 152
Ewal ) EEAU EE AW ERll Eeil Hehl HEELl Eell Eeal Eeil Eell
- EwBil L4 EEh0 EE AW ERiL 2wl EL AW HEEnl 2RIl EEHL Ewnl ERil
= 0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 05 <0.5 <0.5 <0.5 <0.5 <0.5
=4 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
mg/L 0,01 0.36 052 040 042 0.36 038 040 034 0.70 085 083 052




